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H o & i5HET 352 526 241 285
H o EF AT 262 408 210 198
23& 18 8,806 14,828 7,446 7,382
H o 7 S AT 360 490 265 225
HH o 7R AT 602 798 462 336
Heh k)T 243 406 212 194
H &I ET 358 579 340 239
He RS R 279 417 201 216
He s RET 212 309 175 134
H & i = R AT 180 322 152 170
H &R AT 90 163 81 82
HH o 3 &5 ST 171 263 148 115
H & T 128 210 124 86
H KA RET 428 680 350 330
B EXARET 227 460 201 259
H 5 fE K A RET 224 366 192 174
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TR | EE#HETR N FRET R e 5 = e thES#HET X
EREK H e m XA RET 196 351 179 172
H it & HT 200 326 181 145
= B KET 809 1,197 648 549
= B R AT 1,164 2,363 1,100 1,263
= B v G AT 575 963 453 510
=5 ER 437 756 369 387
= LR 200 441 212 229
= BF X FE BT 415 693 322 371
=5 RAET 690 1,314 602 712 % 13EFRE—
= B2 R BT 603 945 472 473
—FEF K/ ZH 15 16 5 11| % 13MEFRE—
24THE 3,725 7,860 3,566 4294
THS = Al HT 174 294 141 153
THS = W T 667 1,528 700 828
T RS R AT 133 288 122 166
THSFRAHT 101 204 96 108
T RS FEHAET 199 296 151 145
THSSR I ET 459 1,000 475 525
THEHN/ KRET 540 1,009 448 561
THS &R T 312 660 306 354
THS T I RET 356 731 335 396
THS e )11 [RET 285 639 291 348
THS LI RET 170 474 171 303
THEZE S HT 329 737 330 407| % |25%
25%% 5,602 11,491 5,149 6,342
THE 78 3 KHET 243 473 192 281
THEE 3 KHT 175 365 170 195
TR AT 476 1,102 503 599
THEHE/ RET 148 338 149 189
THEFa#E/ A HET 90 187 83 104
THSE #E/ ARHET 63 154 73 81
T RRIR A HT 96 225 110 115
INCESEN ) 100 238 109 129
THS R AHET 137 296 134 162
TR AT 60 136 62 74
THS A AT 276 479 210 269
THSAHT 217 367 174 193
THSERAHT 167 262 108 154
THEFR 4 AiIET 144 308 128 180
THSE 7% /7 BIIET 158 293 134 159
THS 7 = AHT 137 280 138 142
TS AHET 239 347 158 189
THEE S AHT 134 302 140 162
THSZ AHT 259 568 256 312
T RS RE SR AT 315 661 304 357
THREEHT 307 688 304 384| * 24THE
THS 3 AHT 5 14 5 9
THSEE AT 216 376 180 196
TR Z BT 175 370 175 195
THE/K O AT 160 372 172 200
THERE A/ AHT 142 348 177 171
THEdL 5/ AHT 96 232 106 126
TRe b BF 4 fHET 115 228 100 128
THem By < T 122 208 57 151
TSR FET 126 217 94 123
THEFK A 1H N ET 105 241 102 139
THS ¥ FEHHET 49 113 52 61
T RS f R BT 85 173 67 106
THSTR ST 157 337 144 193
THS 2 H AT 108 193 79 114
ERSFHE 0 0 0 0
ERFARH 0 0 0 0
2654 15 4,380 8,478 4,110 4,368
N4 I tiE ./ b BT 185 370 182 188
N U 5] R EE BT 130 271 124 147
RN L] 153 329 167 162
N A7 IS R BT 102 177 91 86
N A I AT/ PRLET 178 300 146 154
N I 22 R T 182 369 173 196
NI A+ BT 127 242 121 121
N IS o i 8 BT 0 0 0 0
N7 U A2 47 e TE BT 158 252 129 123
N IS 3 B BT 91 212 100 112
N I BT H T 193 402 198 204
A4 15 B BT 363 479 282 197
N U S T 40 77 39 38
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4= = AD -
X st X INFR ET o 4

THRE | BEE#HETRE 4\ FRET HEl e = = 75 hE AT X

EREK N I AE | BT 0 0 0 0
N/ 15 1E FH BT 258 616 293 323
A4 I K / A BT 146 263 131 132
N A U {5 T 3 A8 T 0 0 0 0
N4 IS S FR T 8 23 11 12
N7/ PR 90 153 69 84
NI H s AT 159 297 153 144
R N 187 355 164 191
N B4 i BT 106 237 101 136
N IB = R AT 173 294 140 154
NI H A ST 38 110 47 63
NI/ BT 116 273 134 139
N U450 - F BT 96 211 107 104
NI AT 4 T 0 0 0 0
N U /N S T 254 572 252 320
N7 I AR LL 8 15 6 9
N I 7 LU 145 173 99 74
DT I KA 0 0 0 0
AT IS L F 0 0 0 0
N IS 7 st/ PR ET 0 0 0 0
N A IS #a A/E BT 0 0 0 0
N IS SR ) 1 BT 119 247 116 131
N A IS SR T 59 158 77 81
N A IS 75 BT 53 89 37 52
N A IS e BT 45 118 54 64
N A7 IS 3 BT 96 189 89 100
NI BR it/ PR ET 0 0 0 0
N7 I St/ PRI T 0 0 0 0
N I $% B H T 59 65 38 27
A IS KL ER BT 0 0 0 0
N IS 7 A A BT 88 201 87 114
N A I i A BT 109 199 90 109
N IS BR A A BT 63 133 59 74
NI R L 3 7 4 3
N IS SR TE it ik 0 0 0 0
DA B TR 0 0 0 0
NI EF 4L 0 0 0 0
NI A 5 0 0 0 0
A g5 b S BT 0 0 0 0
N I A S B T 0 0 0 0
NI TR A 0 0 0 0
NI L 0 0 0 0
NTISIERET S 0 0 0 0
NI B 0 0 0 0
NI 25 0 0 0 0
N I 3k L 0 0 0 0
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THE BB N WY s #% fE SR
hEREX 60,597 110,557 50,519 60,038
NEES 1,292 2,167 967 1,200
LB 17 41 19 22
L I\XFHT 29 65 27 38
= _EAT 77 118 49 69
=3hfEAERT LR 32 53 22 31
=h¥ERERT A 96 138 64 74
IhiERE 100 132 61 7
84 = BT 32 55 18 37
KX =FHT 105 156 68 88
L —XX=FHT 40 80 38 42
2 BT 49 103 57 46
=HREHE 66 143 72 71
I K= BT ] 74 126 57 69
I K = BT o ) 69 109 34 75
R SEET 74 146 68 78
FLERHET 67 131 63 68
AhoTHT 35 36 19 17
REET 12 30 12 18
P ai BT 10 20 9 11
12 EAT 115 129 60 69
J—EN:} 90 154 68 86
it 76 T 67 123 50 73
ZIRET 0 0 0 0
F=153% )BT 0 0 0 0
i FE g ) (| BT 36 79 32 47
024 & 3,258 5,352 2,348 3,004
LAEAT 61 128 57 7
THEET 165 214 100 114
FREXAT 137 307 137 170
EiRET 7 140 66 74
Z & R lzET 124 201 99 102
1878 ;R B AT 288 475 198 277
= 3470 ET 96 172 75 97
1t 78 ;1] e T 187 263 122 141
=E 220 132 231 101 130
T e AT 286 527 235 292
= =T 148 256 104 152
P T 121 161 76 85
Z&H/NERET 24 55 22 33
/MR ET 198 322 116 206
=X B SR ET 175 272 114 158
SRAAET 122 217 89 128
TiEET 8 13 7 6
1R YE AT 15 62 28 34
=3hYE)I BT 54 89 39 50
S ER g ) 1| BT 133 173 72 101
EfTFET 153 189 92 97
i,V 79 133 55 78
K& T 54 76 42 34
i) 61 96 36 60
B 1EHET 103 104 47 57
X/ KHET 0 0 0 0
= AHT 60 83 37 46
Ba 203 393 182 211
03%Eth 2,005 3,278 1,455 1,823
FNEF < BT 28 76 37 39
Z EBRET 68 153 76 77
=T 1 1 1 0
52 BT 79 84 39 45
£ WRHET 110 199 87 112
BEth AT 42 46 20 26
A ET 93 111 49 62
4 22 B AT 78 137 70 67
finith 2 BT 133 266 116 150
A t2 3 HE 114 170 64 106
RATHEET 115 188 80 108
L b T 84 137 68 69
T EFET 134 254 111 143
KRET 69 103 33 70
EiRET 106 176 85 91
SEET 51 97 48 49
th 2z BT 363 645 279 366
#HERET 91 117 57 60
SEET 121 131 51 80
HEREM 34 45 25 20
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THE BB N WY s #% fE SR
hEREX PG ] 33 76 31 45
FatEHT 58 66 28 38
04BAfR 1,855 3,260 1,496 1,764
=B ) 0 0 0 0
TEFH 0 0 0 0
F i KET 0 0 0 0
SFHE] 0 0 0 0
BigF =T 250 425 203 222
#E LI ET 168 320 149 171
LK L BT 75 130 53 77
oK 4 ET 190 376 172 204
T 15X FET 12 32 18 14
=) 32 47 25 22
=&HT 164 264 137 127
AT 13 30 14 16
EVa=) 30 76 31 45
JNEEHRET 70 114 45 69
& Z FEET 27 52 22 30
E= BT 22 30 14 16
<HRET 102 212 90 122
EE) 95 164 7 93
B EHE 63 132 62 70
E:) 88 159 77 82
Fipav::1:) 33 40 16 24
5 5t BEET 82 127 57 70
AT 91 127 61 66
A ENET 52 125 53 72
o | L ET 69 80 35 45
X 4 LI ET 39 76 39 37
Fasn /N R AT 88 122 52 70
05K HE 3,002 5,729 2,533 3,196
0 7K BT 243 482 214 268
shZEET 121 220 95 125
P AT 112 224 99 125
e8| L T 363 720 333 387
2 < HT 63 88 38 50
JTTABEFHT 48 101 47 54
=& H/INERET 245 398 175 223
JNA R/ ET 155 350 145 205
LL| A T 66 122 60 62
BRAHET 223 322 137 185
i P T 97 154 73 81
15 e 69 187 89 98
= =T 110 193 79 114
SRYE) (| BT 263 537 244 203
15 =AY 85 165 82 83
FE R EEHET 184 380 161 219
AREEFET 78 107 46 61
iR ET 105 225 103 122
X310 91 147 61 86
JTTABEF AT 50 207 75 132
S =T 28 53 19 34
20 th BT 130 240 107 133
=X FHT 73 107 51 56
a3 ) 1 BT 0 0 0 0
068% 2,305 3,872 1,775 2,097
TI\XFHT 52 97 41 56
Pl 219 414 171 243
= AHT 76 111 60 51
LN L] 36 52 21 31
= EFEREMT 36 88 40 48
JNH SR HERT 62 129 56 73
TEHAT 121 186 77 109
ERIE HEET 69 98 50 48
T—X =T 53 95 43 52
L ZPqHET 74 142 75 67
T EPHET 106 131 63 68
gk [of] T 92 102 42 60
—EKREH 160 236 115 121
NAKXEHE 87 141 67 74
Paih K= ET 75 110 43 67
#RA=HT 157 265 113 152
SR EET 93 185 91 94
SHERFEET 138 214 105 109
FEFE T 99 131 56 75
fEN L BT 150 262 123 139
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ARE EBHHE AFRET B *; — %% SR R
hEREX L FRET 33 66 28 38
B AT 62 94 46 48
EREE 18 37 18 19
S 26T 39 91 44 47
X 1% HT 161 310 148 162
&5 EFET 16 36 16 20
CEFHET 21 49 23 26
07 REE— 5,864 9,909 4,501 5,408
78/ R F AT 507 769 358 411
78/ ith /A ET 568 1,098 496 602
78/ I &) [T ET 114 234 99 135
A/ AL EEET 174 303 141 162
78/ R E 2R AT 269 593 268 325
THEEIGHT 721 1,257 596 661
T A REH 872 1,361 650 711
F AT/ RET 753 1,202 555 647
F A SR AT 1,620 2,660 1,139 1,521
FHETEFAT 180 324 160 164 * 10%KEEEH
F 4K MHET 34 56 26 30| % 10%k%(ER
A/ H R ER 52 52 13 39
08REFE= 4,184 7,640 3,551 4,089
T4 S hl T 792 1,438 675 763
T AR AT 694 1,469 691 778
T4 AT 685 1,302 612 690
AR/ =E 255 491 202 289
T4 B [SERTET 734 1,231 553 678
THEEHE 1,024 1,709 818 891
09RESE+L 3,298 6,140 2,872 3,268
T4 FRAIHET 640 1,124 523 601
T4 TER 879 1,765 835 930
FAMNE 200 243 115 128 * 10KEER
THEELTE/INAT 160 306 156 150
THEAELTE/RAE 249 425 192 233
THE LR/ AAET 392 701 340 361
A EIGHT 166 337 153 184
A TRigHT 151 293 123 170
FAIGHT 237 445 199 246
FHAESHET 224 501 236 265
10KEER 4,433 8,903 4,154 4,749
FATEFHET 0 0 0 o] * 07kEE—
/R NEHET 318 467 217 250
A/ A S ET 337 787 364 423
F A IET 264 575 270 305
T4 AT 377 622 277 345
A HEET 214 341 170 171
T 4 #RERHET 394 801 368 433
F A K MHAT 638 1,719 801 918 & |07TREE—
T4 FxHT 804 1,658 778 880
T4 ERFTHET 196 324 153 171 Y 11KREEM
FHEKRITET 398 625 284 341
T4 R ATET 252 453 214 239
A/ HRER 196 440 206 234
FAMNE 45 91 52 39 * 09kEEL
1REEM 3,636 6,744 3,158 3,586
/R EEH 151 291 148 143
78/ R RET 548 984 446 538
A/ RE T 113 210 93 117 K 12FKEFE/\
A/ R AT 332 485 221 264
78/ R BT 263 638 308 330
A/ A RAT 272 585 293 292
75/ TR SREE AT 372 444 213 231
78/ At /NERET 135 234 115 119
78/ TR AR ET 164 344 156 188
78/ P8 A SET 345 629 296 333
A/ AT 82 297 122 175
[Pl G} 217 483 234 249
A/ mE LS 196 280 126 154 % [12%KEE/\
A/ HEREE 137 238 102 136] * 12FKEFE/\
8/ 5/ OBy 281 551 261 290
T4 £ XATET 28 51 24 27| & [10%kEER
12REE/N 5,936 11,626 5,336 6,290
75/ 7 1 2L i) T 360 659 309 350
78/ I {0 ZEHT 424 702 338 364
A/ E B 328 598 294 304
A/ R R AT 239 364 166 198
78/ T KR AE P BT 213 415 198 217
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THE BB N WY s #% fE SR
hEREX 78/ 5 K IR AE P T 137 242 105 137
78/ i/ ARET 200 484 217 267
78/ TR AR 131 319 157 162
A/ AL T 179 304 132 172
A/ A ET 201 325 141 184
78/ 5 e T 58 95 43 52
A/ HE/NET 145 311 143 168
78/ /Mg A ET 187 484 198 286
A/ RERE 237 511 221 290
78/ 5 B dwAT 453 920 434 486
A/ R ERFE 0 0 0 0
/R B/ N 320 739 354 385
/R =0T 136 299 130 169
78/ I SR JR T 1 5 2 3
A/ RE T 119 236 96 140 K 11KREEM
fa/ R EFHET 317 517 251 266
fa/ R EaEE AT 123 241 119 122
78/ R T 269 416 189 227
78/ R P fH P R AT 257 568 272 206
78/ T B fE Y P T 214 493 229 264
./ mEL & 238 405 154 251 % |[1EKEEM
A/ HEREE 65 208 91 117 * 11KREEM
[P Nila k=1 385 766 353 413
13KEHEZ 3,019 6,047 2,825 3,222
A/ R R IEHT 108 273 132 141
[P Nic) =L 126 267 125 142
/R A BT 343 663 331 332
S EE ] 441 767 347 420
BR 2 qm ch iy 360 745 341 404
5% 22 5 T 448 890 405 485| K |[14KEEN
REEMATHE 237 409 201 208
78/ AT 96 199 91 108
A/ mA R 363 770 364 406
A/ R E R AT 88 229 111 118] K 14KREEN
/R EFH 180 421 199 222
78/ 5 e o T 229 414 178 236
14K EER 2,171 4,215 1,963 2,252
R & m AT 379 708 360 348
78/ /N R ET 324 432 185 247
A/ R ERET 96 174 7 103
78/ T N K AT 488 1,023 468 555
78/ K AR HT 402 833 400 433
78/ 2 th T 289 625 291 334
5% 22 4 5 T 131 286 127 159 * 13%kEZE—
78/ R E R AT 62 134 61 73] * [13kEE—
15182 1,912 3,596 1,635 1,961
EHERT 130 213 87 126
B3 HT 31 78 31 47
BRREFHE 94 195 87 108
KR ET 91 168 85 83
F+ B4 R HT 13 34 15 19
T ERET 43 113 54 59
¥t = HT 91 126 62 64
S =T 99 220 104 116
KEHT 35 63 25 38
H BT 50 88 46 42
B PaRT 117 185 76 109
22 B BT 55 93 46 47
2z BT 33 62 29 33
T AL EHT 30 106 40 66
HEEET 40 99 52 47
KX =FHT 107 187 76 111
FEANET 141 244 113 131
ZEAT 111 183 103 80
+tHETE 70 133 65 68
J\ETH 6 13 4 9
NLETH 22 29 16 13
e =T 7 20 8 12
TERART 55 83 35 48
ALAHT 94 181 64 117
FHAHT 13 26 13 13
BV EET 44 86 39 47
BT EET 58 89 37 52
T EET 83 205 101 104
SRHET 17 34 12 22
B )IET 47 94 48 46
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THE BB N WY s #% fE SR

hEREX FE AL 85 146 62 84
16477 1,327 2,459 1,097 1,362
IRAHET 56 140 69 7
fREET 104 192 93 99
KSPHET 160 231 108 123
KIEHT 60 150 59 91
FaET 45 94 47 47
RHET 27 70 32 38
= AKHET 61 117 57 60
=XAKATH 21 57 26 31
= =T 123 226 102 124
ot 41 62 17 45
DG ERRET 33 54 17 37
BHin=Ea 8 22 10 12
REHT 2 7 2 5
DI HET 63 65 32 33
EEiEET 3 5 1 4
A FET 18 48 21 27
AT T 26 41 18 23
Jt/MERET 31 45 17 28
15 HT 41 79 37 42
B =T 134 285 124 161
7 SRET 92 172 78 94
ESEYE) 2 4 1 3
Fe1) 2 Hy 7 8 3 5
W EfEET 62 72 36 36
1 2 AT 11 24 11 13
sE/KET 19 46 17 29
S =T 9 18 8 10
LR ET 19 36 12 24
B LETHT 4 8 4 4
A SLETET 25 43 20 23
Efr 20 38 18 20
1788 1,195 2,492 1,145 1,347
T ZRIET 19 50 25 25
A= [ERIET 30 45 25 20
ERFRIAT 18 43 24 19
EEiDPHHET 55 141 65 76
FAZHT 92 143 65 78
E EHT 131 188 94 94
Fit EHT 61 119 52 67
=T 33 75 38 37
R EE 76 173 82 91
ot = HT 6 15 7 8
KR ET 51 127 57 70
B8 EAT 29 47 23 24
mTH 16 37 17 20
ATH 26 60 27 33
~TH 92 194 86 108
HEET 57 143 7 72
fa =AY 59 149 67 82
S =T 144 348 153 195
A EHE 1 2 1 1
B EAT 4 8 5 3
SREHT 7 11 4 7
HERHET 9 17 8 9
AR 12 36 18 18
A ZET 35 52 17 35
HLEHET 19 25 12 13
AEHT 8 23 11 12
REET 66 179 73 106
Ea=) 39 42 18 24
2[R HET 0 0 0 0
HEAT 0 0 0 0
18405 2,148 3,630 1,642 1,988
Y ER 168 340 163 177
RERT 106 271 118 153
FLAH AHT 140 198 97 101
KBr#4 AR HET 88 170 69 101
FLET 116 160 67 93
BT 88 152 68 84
& HZET 11 26 12 14
B ET 10 16 7 9
=T 46 81 39 42
= HET 67 125 55 70
tREET 70 75 27 48
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THE BB N WY s #% fE SR
hEREX T2 BT 136 224 100 124
e E T 204 345 164 181
=T 120 179 78 101
EFEREAIE] 10 20 11 9
IZ EP9ZE4RET 82 127 54 73
ZREREET 53 82 34 48
EREET 109 156 80 76
AEET 150 218 97 121
A—EPF98T 47 92 44 48
=T 111 180 84 96
A RET 51 81 44 37
TaIR/NERET 32 59 23 36
BN/ \ W BT 77 154 69 85
== 28 44 16 28
R R FI BT 1 1 0 1
AZ TH 23 43 18 25
HEAT 4 11 4 7
e =T 0 0 0 0
1940ith 2,500 4,584 2,074 2,510
375 3 RTET 85 112 63 49
L ARgEFRIET 83 143 74 69
TABEFATET 84 164 7 93
K FRIET 18 52 24 28
LU AT 112 187 78 109
S =T 267 528 233 295
KX =FHT 100 124 54 70
SLEET 145 252 119 133
ERET 181 361 169 192
= =10:5y 97 182 85 97
el =111L:) 28 62 29 33
T B AT 88 182 76 106
REHET 134 27 111 160
SFLLET 83 167 76 91
FATHET 170 351 153 198
fRRET 70 86 42 44
T 170 263 125 138
ERHE 42 89 37 52
AN 40 93 48 45
SHEHET 201 367 149 218
TF=EH 15 36 17 19
A% BA BT 167 287 137 150
HEET 92 159 75 84
1 th X 3R AT 0 0 0 0
B/ \FBET 0 0 0 0
I K ERET 19 40 19 21
HEAT 9 26 10 16
20%FEE 1,877 3,184 1,457 1,727
B A WHET 23 37 16 21
L HERHET 31 51 22 29
L KB ET 10 20 7 13
R ALET 296 498 232 266
£4 FHHET 55 117 52 65
KX =FHT 59 101 48 53
EYIET 175 260 108 152
sE/KHET 423 832 364 468
— Z M AHT 53 94 46 48
T AL EHET 74 132 58 74
HLLZERT 74 102 51 51
PR EE 135 186 101 85
ASE 31 67 32 35
BAERET 29 62 29 33
3.2 RET 69 83 43 40
HEAET 92 146 74 72
1T FIRTET 14 28 14 14
R HT 58 97 43 54
AR RHT 13 30 16 14
fill 2 O BT 14 35 12 23
¥ ARHET 149 206 89 117
a4 MW ET 0 0 0 0
21315 333 655 273 382
& THT 2 8 5 3
5 FAET 8 12 3 9
g 2 AHT 7 10 3 7
FAZKHET 5 7 1 6
FAEHET 1 1 1 0
1 ARHET 11 18 9 9
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FHE ESHHE N WY s #% SR
hEREX THEARHET 15 20 4 16
= AT 21 30 11 19
HE = T 8 18 10 8
TR 7 20 9 11
KEHT 7 10 3 7
L1 5 T 9 16 8 8
JLEEET 4 7 3 4
ZREM 2 4 2 2
[E =) 1 5 3 2
15 =AY 4 8 2 6
T KBRET 2 2 0 2
CKEHT 6 9 3 6
EEHE 86 184 79 105
%2 BT 31 60 29 31
N7 A% BT 9 23 11 12
o 5 BT 12 23 9 14
SR {AIET 12 32 11 21
th 2 BT 25 46 22 24
th B BT 17 35 17 18
A 15HET 10 28 10 18
i &1 S BT 11 19 5 14
224 R 1,194 1,887 872 1,015
sk ZEHT 16 25 12 13
A ERET 19 30 14 16
F4& 3 AiTET 11 27 10 17
EE R 45 88 44 44
FEEHT 14 24 11 13
e EHET 63 90 42 48
KEH 13 28 11 17
=300 73 86 52 34
YR FEHET 51 82 32 50
EEHET 73 100 48 52
ot = T 52 73 27 46
B HT 101 188 83 105
BEZH 37 74 37 37
== 61 82 38 44
FERET 29 63 21 42
2z BT 44 78 37 41
J\BEHAT 52 63 32 31
REHT 84 191 92 99
R AT 22 41 21 20
SHEHET 157 219 99 120
B EAT 4 7 4 3
AR 37 56 25 31
KX =FHT 136 172 80 92
238 % 1,853 3,188 1,390 1,798
HEEET 52 83 30 53
FHEEET 90 122 54 68
+C=FHET 108 184 72 112
PR 38 72 29 43
T8 PR HET 9 20 13 7
A = HT 68 117 55 62
HEAT 87 145 65 80
J\BEHAT 43 49 19 30
HLEET 41 95 45 50
A ZET 18 38 19 19
HEHT 100 199 84 115
 =ET 11 24 12 12
=X FHT 149 254 102 152
fEN 5 LI BT 74 141 62 79
JTATEET 216 362 160 202
B B = T 13 25 12 13
ot = BT 114 181 84 97
== 93 170 75 95
g AR T 51 70 29 41
JEz EHET 49 66 30 36
[ R ET 137 255 111 144
Ay i) 10 14 3 11
& T 74 117 50 67
SRI1EFHET 32 44 18 26
—SE4t AT 101 187 80 107
th & FE] 28 53 27 26
Ficg=N =) 44 91 45 46
TCEAFHE 3 10 5 5
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ARE EBHHE N WY s #% fE SRR
BHILX 20,482 36,651 16,091 20,560
o1{&&E 2,251 4,073 1,405 2,668
AiEETERA 52 94 37 57
AiEETEE A 21 38 16 22
¥ EFET 33 75 30 45
L ARRET 43 94 44 50
LiEEET 57 104 50 54
THEEET 73 115 43 72
:Ed:) 17 45 23 22
s EET 106 201 81 120
7 45 2 T 14 35 19 16
i) 81 96 48 48
e I 61 140 63 77
27 BT Ea A 39 74 30 44
AEBR-TH 59 75 25 50
AR 122 196 67 129
s ST AT {AI BT 309 440 107 333
fE ST 187 247 57 190
L3 ET A 171 32 139
BT 20 54 27 27
bR ZRET 85 129 52 77
LEH 158 363 113 250
E{ZHET 20 43 18 25
TEHT 122 172 49 123
HAEET 199 354 128 226
= PIET 22 56 26 30
AP 57 L/ NET 14 21 13 8
/ﬁ 7 B8 = th FHET 77 167 72 95
5 btz A=h=1:] 107 317 68 249
S RE B AR A ZET 76 142 60 82| ¥ 045 HEEF
SREET R LI 0 0 0 0
REBRATH 6 15 7 8] ¥ 02KE
02755 1,746 3,068 1,363 1,705
ZERmET 48 87 38 49
L1 5 T 203 307 125 182
A 7P BT 30 76 37 39
1L 35k BT 97 139 50 89
REHT 103 170 80 90
= T 32 53 23 30
=EN:] 6 21 8 13
B HT 16 37 21 16
IN=T) 60 119 59 60
HroET 19 45 24 21
L) 240 406 179 227
5 KHET 210 364 181 183
UWES L] 36 81 35 46
P4 s BT 44 92 42 50
% P9ET 19 42 16 26
sth BT 81 124 56 68
= REHT 18 40 16 24
HEARET 55 91 40 51
WEATHIET 111 149 56 93
REBRATH 149 326 149 177] % [014&3E
REBERATH 12 31 16 15
RAEBRMUTH 113 184 81 103
AEBER=TH 11 26 8 18
AEKETH 33 58 23 35| % |03FK
03;F7K 1,615 2,805 1,293 1512
EK—TH 42 116 53 63
EK=ZTH 45 A 28 43
EIK=TH 32 70 33 37
AEKMTH 414 690 309 381 & 025[Fm
FHKRETH 30 55 30 25
Tl R ET 143 213 112 101
T 34 62 27 35
EEE 12 28 11 17
L FXKHET 27 54 25 29
EACIL] 17 28 13 15
J\3x_EHET 10 18 8 10
ot = BT 57 103 44 59
S FFET 55 102 40 62
A RHET 70 117 55 62
EEDPHHET 339 506 252 254
TFXRET 77 146 63 83
EKET 39 96 44 52
L mEfr 34 63 26 37
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THE BB N WY s #% fE SR
BHILX REH 43 79 36 43
ZE ) 26 60 25 35
ARFE LA 69 128 59 69
sEBRSFE K L ILET 0 0 0 0
;AR T ILET 0 0 0 0
ARSI/ LT 0 0 0 0
EHAOS&EFILET 0 0 0 0
FEHAORZEFLET 0 0 0 0
FHOZEHELFEE 0 0 0 0
FEHAORKXASLLET 0 0 0 0
0445 HEFF 2,249 4,646 2,170 2,476
4 REEF BT s e 7 ZEHT 24 34 16 18] * [011&E
—,ﬁ=¥y%'<IJJFHT 10 33 15 18] ¥ |06—#8
5 SHEHmASHE 972 2,078 978 1,100
e Ritod=h=1:] 219 504 247 257
i]i 119 260 136 124
SREF R =T 198 427 188 239
S REEFFR I LIET 51 60 37 23
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RSy A 1 65 29 36| % 15AEBZ/A
A5 _Z A0 0 0 0 0
RIS 0 0 0 0
&% H 0 0 0 0
RSKXE 0 0 0 0
RIELIE] 0 0 0 0
15SHMEZ/#f 2,267 4518 1,896 2,622
AE =/ AET 1,324 2,851 1,087 1,764 Sx 14mEBEm. 16MBEZ/H1
REMmMYAi 943 1,667 809 858| % |[14MEFE
16mE=/4dt 1,493 3,018 1,365 1,653
&=/ 1,493 3,018 1,365 1,653 % [14mEBEm. 15ABZ/H
1THSE/ K 1,909 3,687 1,549 2,138
A &5 7K ET 691 1,444 561 883 & 13@ME
Al B & 15 BT 368 580 286 294| & 13[EE
EIE: YN ) 163 291 108 183 ¥ [13AE
BISEN:) 687 1,372 594 778 % 13@ME
184kLL 5,976 12,647 5,854 6,793
HILET S HHE 79 194 79 115| ¢ |03#k4E
BEILPI 55 R 2 BT 122 208 107 101
MR P 4 RS R AT 157 313 141 172
LR S R S FEET 73 155 68 87
Bk L {21 47 5 B ET 181 301 138 163
Bk LI {37 3 47 2 Fa BT 62 110 47 63
B L H R m a0 SR ET 81 153 74 79
kLU F iR SR FE AT 158 233 119 114
B LK B5 70 3 SR AT 213 276 131 145
HhLL K EF 2o AT PR AT 198 341 161 180
kL& _E AT 299 548 262 286] * |02FFH
HILET T 438 1,100 500 600
HRILETIE SR 350 900 445 455
HkLLtE B R K FEET 85 155 89 66
Bk IL1E B K K EaET 69 168 79 89
#LtE SRR ILET 44 86 47 39
Bk LI = ] i85 o BR T 58 137 65 72
Bk LI = F] i85 o e T 74 177 68 109
kLU = e % e b BT 90 182 85 97
HEILEF| KPS ET 53 143 57 86
kL EF R PIFEET 92 223 115 108
K L BT 4 S B AT 439 940 405 535
kLR A& BT 198 523 242 281
BRILETER S 429 885 420 465
R LU BT S S 49 125 63 62
HELLET 3155 185 447 198 249
HILETREE 592 1,221 550 671 =
BRILET R % F % 211 497 241 256
HRLLETRE 137 352 167 185
kLU BT =5 104 280 125 155
HELLERT = /50 0 0 0 0
kLU BT K8 35 85 43 42
kLU BT 4R = F B 0 0 0 0
HELLIBT 5K F A AER 13 28 11 17
Htmm%,i 98 229 112 117
HELLET T 76 200 90 110
HEHJETZ‘EE%(EEFHEIiﬁ) 434 732 310 422 *




TH2EERAE RATEZMETX - AFRETR SEEHER (GR|RE)

THE BB N WY s #% fE SR
RERX BRILBTAER AL 0 0 0 0
Ak L BT 3k L 0 0 0 0
198K ILER 3,666 8,628 4123 4,505
kLU ET 4R & 64 111 50 61
HELLET 12 452 866 423 443| ¥ 208k
HELLET SR 3 5 2 3
kLU BT B Sr 4 13 5 8
HLETEEFRE 0 0 0 0
Ak LI BT 32 T 33 93 43 50
HELLETFOSR 383 883 426 457
kLU BT KSR ET 201 393 197 196
Ak LLL BT 7 T 16 42 25 17
Ak LI T 3R AT 30 57 26 31
kLU BT 5 R ET 20 41 21 20
kLU ET o S ET 73 139 68 71
kLU ET =L 371 1,014 497 517
Hk LI BT AT 3 31 A 34 37
HELLET 7 2 336 769 370 399
HRILBET =R =1L 209 529 250 279
Ak LI BT [ 1R 495 1,262 613 649
kLU ET B [ 353 770 339 431
HELETIL /T 264 707 335 372
HRILBT R EE 49 130 65 65
HRILFT ERT 217 588 272 316
HELLET LI 0 0 0 0
BRILET =R 62 145 62 83| Y |20%kILFg
208K 1L 3,551 8,298 3,772 4,526
HELLET 2 28 50 19 31 & [19%kILE
PRI BT 318 761 340 421 ¥ |[198kIUE
HILET K E 1,764 4,145 1,884 2,261
kL5 F ERAT 453 1,172 523 649
PN L) 988 2,170 1,006 1,164
21581 2,305 4,639 2,160 2,479
REE R AT 93 218 111 107
R B B ET 129 328 157 171
REIE AT 318 737 304 433
R ER[RE R T 243 548 264 284
REAF LET 6 12 6 6
RERA LT 419 828 397 431
REFE Al 42 A ET 54 81 38 43
RE R R 2 BT 128 150 75 75
RERL O 61 111 57 54
RELG LT 4 8 4 4
REE LT 3 9 4 5
RE{EL I LET 3 6 4 2
REARE F LA 3 6 2 4
REE 2 NET 184 394 174 220
R B i 11 0 AT ET 117 159 74 85
RE K P HT 95 192 86 106 % 2281
REEEET—TH 33 65 32 33
REOIEF AT 91 177 78 99
fREILEAH 8 18 9 9
RE PR BT 9 18 11 7| K 22801
REL S RAT 1 3 1 2| * [228b)1
RE T ELRET 15 25 10 15[ % [228b)11
PREL— /{TET 8 14 7 7| K 22801
ZEEZ N NAT 14 24 7 17] % [228b)10
RE AT 195 385 189 196 % 2281
RE TR RET 32 59 27 32| K [228b)1
REFEF LA 39 64 32 32| & [23FE
2281 7,937 13,649 6,689 6,960
RE K P HET 25 26 12 14| * [21F@%r
RE PR BT 162 310 134 176 ¥ [21FBfH
REN & HET 29 51 26 25
RE A IEET 0 0 0 0
REL S RAT 123 257 116 141 Y [21FB%
RE T ELRET 65 110 51 59| ¥ [21FEf
RE I R ET 0 0 0 0
REFRIZET 222 345 156 189
REFE )| R ET 216 397 180 217
RE— /1T 214 346 133 213 & 21%@f
PRER I ET 258 427 199 228
RE D /AT 170 27 138 133
RESE H AT 518 913 462 451
RETIRET 1,037 1,986 946 1,040
REENERSET 142 304 159 145
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ARE EBHHE AFRET B *; — %% SR R
KREX RE FE A 5 B AIET 94 193 87 106
ZEE R N\ \FET 171 315 164 151 % [21%E7%
RE T 151 250 126 124 Y [21FBf
FEEEETTH 59 99 42 57
FREEEEALTH 68 122 49 73
REIXAKHE] 228 364 229 135
REYHE 120 251 124 127
R AR IRET 425 752 380 372
BT @ AT 153 248 112 136
REFF AT 192 2717 147 130
REITHHE] 414 741 359 382
RE I ARET 192 394 189 205
RE M I [RET 221 481 249 232
RET = 0T 0 0 0 0
RE AR AT 83 126 7 55| Y |21
EREHEE—TH 343 558 279 279
EEmHEEZTH 1,025 1,440 746 694
EEAHEE=TH 375 628 313 315
REFHEETM T B 436 661 309 352
RESTERET 6 6 2 4
23FE 10,577 19,616 9,663 9,953
EEFEF LA 56 133 69 64|  [21FE%T
REEAHE] 90 204 115 89
RE BT 221 478 225 253
RELHET 174 3717 169 208
RE T AT 410 764 369 395
FEEEEE/NTH 109 157 77 80
FEEEELTH 57 112 57 55
FREEEENATH 73 117 58 59
REHAHE 27 97 43 54
RE (ST 208 450 231 219
RE BRI ET 36 104 55 49
RERET 408 783 405 378
RE B BT 41 95 52 43
RE /R ILIAT 39 77 40 37
REBRTS 272 598 298 300
PRE B ET 44 A 43 28
RERFAET 27 65 33 32
PRE 18 B 58 25 BT 0 0 0 0
EEROHE 245 517 260 257
RE MY R AT 15 32 15 17
RELR AT 359 886 426 460
REL P AT 539 1,222 552 670
FEEEEATH 41 65 32 33
FREEEENTH 93 121 51 70
FREEEE=TH 48 A 28 43
FREEEE_TH 111 183 83 100
RE A AR HT 153 256 121 135
EE O 648 1,156 565 591
REL Y H AT 205 426 183 243
REAR ST 89 143 64 79
FEEREHE 516 761 397 364
R 54 111 53 58
FREITFHT 463 924 449 475
FREINARET 552 1,073 556 517
RE R HET 14 19 14 5
FREEEELE—TH 66 119 55 64
REEEER—TH 223 421 200 221
REF AT 173 332 146 186
RE )BT 153 291 137 154
R ER [ K T 95 175 77 98
R th/ AT 923 2,051 993 1,058
RE R L ET 4 8 4 4
EERE LA 9 16 6 10
RELRE A7 L BT 0 0 0 0
EERYIRET 0 0 0 0
EEAHEETAT B 258 387 198 189
REFHEEIATHE 713 1,032 524 508
EEmHEEETH 549 786 432 354
REHEET/NTH 706 976 540 436
EEXREREAEFH 2 4 1 3| K 248E/ %
EEXRERAAEFE 163 188 71 17|  24FE/ %
RE TP ST 103 182 91 91| & |[24fk/%
REETAHE 0 0 0 0
247E ) % 8,023 16,122 7,488 8,634
REEERAE 232 286 97 189
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ARE EBHHE AFRET B *; — %% SR R
KREX RE R R E] 51 119 60 59
RE -+ ALETHET 162 361 176 185
RE R 89 168 75 93
RE S EISET 110 209 93 116
RELE AT 135 282 126 156
ERELR RS 236 475 234 241
RERS R BT 70 150 64 86
B St AT 109 225 112 113
REXEA A MLEET 4 8 4 4| < |25k
REXEAREAEFAT 176 467 242 225| ¥ |23FE
EEXRERAAAEFE 173 352 165 187| ¢ [23FEH
EEXER/KXAHE 100 255 124 131 ¥ 2573k
EEXRER/EFE 28 78 41 37| 258y
EEXEAEFE 338 638 313 325 & |25k
EEXEA/KXLET 15 30 10 20| ¥ 258
EEXER/\EH 198 422 200 222
REXE R HAET 82 174 81 93| ¥ 258
EEXE S NIEE 199 412 205 207
EEXREREHFHER 113 250 117 133
ERERIGH 128 236 103 133
REAHEAT 55 84 39 45
RE R/ BT 387 814 364 450
RE = T 378 741 363 378
RE AL FET 148 332 157 175
RE T ARHE] 73 143 60 83
RE 5 K AT 63 129 56 73
REILGEEET 238 455 199 256
RE LT T 156 250 118 132
FRE KB EEHET 91 162 79 83
R RS 118 186 83 103
REMZ R 639 1,460 628 832
RE P BT 509 1,027 457 570
RE TP ST 516 1,084 521 563 % |23FE
RELEAREAT 620 1,191 577 614
RELRL/ T AT 709 1,447 660 787
REEEFET 412 734 371 363
RENE R 163 286 114 172
257E 3,042 7,684 3,712 3,972
EEE A 2 3 2 1
FEEAXERHEHR 87 223 114 109
REXEA A MLEET 1,137 2,831 1,392 1,439 Y 248/ %%
FREXERAERART 1 1 0 1
EEXEASLET 100 261 134 127
FEEXEATEHEE 138 323 169 154
FEEXERREHE 60 121 58 63
EEXERKXAHE 79 194 103 91| K |24FE/ %%
EEXRER/EFE 270 725 330 395 & |24@E/ %
EEXEAEFE 4 12 5 7| K 24FE/ %%
EEXEA/KILET 623 1,349 649 700| % |24Fk/ %
REXE R NHAET 133 360 188 172| Y (24FE/ %
REL L AT 72 187 97 90
FEEXEARGHEHA 145 607 229 378
FEEXERRTIEMH 191 487 242 245
EEXEATHELL 0 0 0 0
RER T AT 0 0 0 0
RERRDET 0 0 0 0
261t B2 A 1,458 3,823 1,701 2122
Pz B 37 T S T 78 239 104 135 Y |28EREH
EE#A_E / LLAT 229 809 300 509| Y 27FzEH7E. 28EEAH
Pz B A7t [5R T 96 220 102 118
Pz B K AHH BT 134 331 155 176
BEEfZEY) = BT 37 81 43 38
BBl o 18 AT 277 682 309 373
EREALIL P HT 119 291 143 148
Fz it S5 ET 127 302 148 154
B Bl 5 18 T 197 459 206 253
BB K = BT 162 405 189 216
Pz B 3L Fi 0 0 0 0
FrBA{EI T/ N 1 1 1 0
Pz B8 7B 1 3 1 2
EREALL S8 0 0 0 0
27ERER T 2,237 4,420 1,796 2,624
ESEA_E /LT 185 367 173 194| Y |26JCEZEY. 28EZEH
B Bt o 1L T 590 1,133 467 666| Y |28EZHE
BB 78 K R ET 414 935 360 575| ¥ |28EZHEH
BRI A £RET 204 397 162 235
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THE BB N WY s #% fE SR
KREX B AL PR S AT 105 217 90 127
Frli1 P BT 530 981 385 596
Pz B = AHH T 166 302 118 184 % 29ithMA
B Bl < #A T 43 88 4 47
28EZ i 2,318 5,990 2,747 3,243
ER R — /LI AT 1 2 1 1
BRI — /LN AT 3 5 3 2
BB Fr LU BT 9 26 8 18
Pz B3 40 2% BR 22 T 118 295 154 141
Pz B3 40 [ 7 22 T 223 500 235 265
B2 B 75 il R S AT 42 97 46 51
Pz B 37 T 52 T 109 299 138 161 * [263LEREA
Pz B B KRR T 41 92 54 38
EEER_E /LT 10 29 12 17| ¥ |263tERE. 27EZE TG
Pz B o LI BT 132 309 137 172| * [27BERAFE
EEEA_E i L AT 106 303 146 157
BE 8T i LU AT 168 450 188 262
Pz % (R BT 77 213 92 121
Pz B 75 X BR T 130 315 150 165 * [27EEEAFE
B B A0 SR BT 211 509 226 283
Bz il e BB HT 150 456 218 238
EZEiHE ./ A RT 396 939 434 505
ERE=/1] 1 3 1 2
FrliiAs O BT 230 594 286 308| % 35&HBEH
B Ei N 25 BT 13 37 16 21
ERiifCiE & 0 0 0 0
EREAE 5L 14 43 24 19
Pz B e A LLI 0 0 0 0
Pz g O BT 132 334 144 190
ER B L N EE /T 0 0 0 0
EREd £ L E 1 139 33 106
BB 7 H P 0 0 0 0
BB % i H BT 1 1 1 0| % [30ithHE
29ith Fl 2,896 5,400 2,388 3,012
i KA ET 289 717 324 393| % |30t1AE
BB T 2 s HT 3 5 2 3| % [30ithHE
B 52 2 T 45 103 50 53| % [30thEAIE
G HRXZHE 827 1,402 561 841| Y 30HI.33FHH. 5FHE
JNZE AP BT 1 2 1 1| % 32NEHELL
JNZE AR 2 R T 1,073 1,905 895 1,010] Y [32/hNEHEELL
INEAR A4 R ET 25 77 31 46| % [32/hNEMEELL
INBEARZR AT R ET 125 295 144 151
INEAR L 12 R T 454 835 343 492
B Bt th FR T 0 0 0 o ¥ [30;thAE
Bz B = A T 54 59 37 22| Y |27EEEHIEE
30t HE 1,876 4,681 2,214 2,467
BB THT 448 1,080 492 588
A HEKXZHE 75 212 104 108 % 29ithH.33F/ME.3HEHEHEF
Bzt KA BT 150 339 161 178 % 29ithMA
B Bl A FR T 73 193 92 101] ¥ 29;thA
Pz A 10 Bl 2 T 169 401 193 208
[ B ) 231 574 275 299
Pz B i P S T 233 532 265 267
B % i H BT 68 219 111 108 Y |28EREH
BB T 2 s HT 123 294 132 162 % 29ithMA
Pz B 658 2 T 92 269 117 152 s 29ithMA
Bz B2 BE 214 568 272 206
31/NEEMR 1,210 2,348 1,058 1,290
INE AR AET 474 870 360 510 ¥ [32/hEMELL
JNZE AR A Ly FE T 736 1,478 698 780 % [32/MEMHZLL
ARIIM 0 0 0 o] % 33FEM
32/NEWE L 1,927 4,390 2,094 2,296
JNZE AT /NP BT 178 531 256 275 ¥ (29;hMA
JNZEARLL O BT 62 165 7 94
INEARA )BT 128 355 182 173
INEAFE SR AET 322 705 334 3711 % [3U/NER
/NEEAF R 12 R T 54 62 26 36| & [29;tFE
JNZE A A Ly FE T 1,009 2,205 1,056 1,149] ¥ [ 31/NEIH
INEAR A4 R ET 59 149 61 88| ¥ 29;hMA
JNZE AT 7 2 BT 16 38 18 20
INEAR AL A BT 24 57 27 30
INEAR S A R ET 75 123 63 60
INEARALIL 0 0 0 0
33EH 2,792 4,787 2,253 2,534
T B ZREafT 982 1,653 768 885 * [35FAF
B HEFRERA 358 795 361 434| % 35&EBH
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THE BB N WY s #% fE SR
KREX AHAZA 106 209 91 118
EEFE/T 815 1,148 566 582
BHEBK 531 982 467 515
G HRXZHE 0 0 0 of s [29ithmA. 30ith A, 3550 %
EHIIA 0 0 0 o % [31/EH
348 % 3,090 8,428 3,946 4,482
ESff =/ _E AT 79 176 75 101
el — = ¥ = AT 31 94 48 46
Pz B +0 2R BT 113 259 126 133
ERER E 1L O /T 417 695 311 384
EZEA T LU O AT 260 538 256 282
B o% LI #4728 T 0 0 0 ofl % [35&FAFH
i B8 e i LI AT 119 334 173 161
BEFEARET 26 68 29 39
=L ESE 1) 141 326 161 165
B ErEiHET 100 242 111 131
EE k) 159 374 193 181
H B 5 K& HT 184 482 224 258
EESTegR=) 247 1,288 482 806
SESZ i asli] 54 148 78 70
IS 77 230 105 125
BEEFRET 407 1,023 533 490
H B7 B R HT 215 808 373 435
HE7)I38 24 173 92 81| % |35&FAE
H £7 B R HT 22 54 27 27| % [35&FBE
HE A FHE 331 8717 433 444
BEALIIEE 27 74 34 40
BERE 1 4 3 1
SESZAN L) 2 6 2 4
HEF#k 47 141 69 72
HEFRL 0 0 0 0
SESZ(ANN 7 14 8 6
35&5HE 3,022 6,608 3,080 3,528
Felil & 15 E] 114 315 162 153
BB = BT 54 123 66 57
B o% LI #4728 BT 319 687 317 370| % [34B%
Bl 3R & 15T 196 418 199 219
EESZEIEE] 53 164 77 87 34HE
B HEXWLAE 983 2,308 1,059 1,249
THRAER 621 1,056 438 618
£ B FxrEfr 188 428 210 218 % 33FMA
G HRXZHE 446 1,010 503 507| ¢ 29;thH.30HEE. 33EH
AHEHAFERA 45 96 48 48| Y 33FEHE
H £ B SR HT 0 0 0 0] % 34BH
ErftitE O BT 3 3 1 2| ¥ |28EEHH
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